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Topic:- General Hindi

1) 89T § d 95 R gl I’ 39 ufed A S19 91 6P R 82
1. SIET SABR
2. IS PR

3. AMFAIHRUT AABR

4, TUDH ADPR

Correct Answer :-

o TOD DR

2) B FLRAT W U ISP a1 TS Afb S 8] SI1eh< AR 91 a1 31, T4 & g1 a1 8
& ot &1’ 39 9T | B FT HETaRI 8

1. U Il &b 9g.dg

2. 35 HIAIG

3. §94 ! [ BT TEGRT
4. Y B ADbS!

Correct Answer :-

. T& el &b Ie.9g
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4. U TR &1 1, SIa19

Correct Answer :-
. T [ &1 MW, Ja
4) & ug S T fHa1 §1° 3 9T BT Y5 =0 fof@w
1. 79 R ot ol e fpan B
2. B9 T8 1 g b g1
3. g P R GHI§ |
4, T I8t B9 T8} fBa 5|
Correct Answer :-
. B9 gg wm T a3
5) I DI U ford I’ 3 919 T Y5 &0 ferfag)
1. 3P 3 Tl b} fera|
2. I 3% Ty ford|
3. 3T 3FDI U Bl ford|
4. 3YP 3 T ford |

Correct Answer :-

. I 3D T ford |

6) ‘d g & fiT Raw e T 1° $9 WA AT &1 WY a1 § 9aal |
1. 4 Yg & foIu gxdahrerd U

2. 3 UG A8 3 SHIT YRIHTerd Idl U

3. 4 A1 ¢ Rifeh af U § T 7@ d U

4.9 81 Ug & o YR Tad |

Correct Answer :-

« d UgT d18d ¥ SHfY JRAadhIad ad Y|
7) <30 ST & T Yeg B qaAT3¢
1. 3

2. AHNIHA
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3. 3
4, 3

Correct Answer :-

8) 9 UgH aTFd P HIYRYT a1 | dGIeIT:
A TR FPIAT AYT T & TR01 TR fpg 1’

1. U8 I I FHMT U = & =01 Wef fbu|
2. I W BT g1 = b =R01 WY fobu|

3. I T G B & b RN WY |

4. 1 I W P11 Al = & TR0 Y fobu|

Correct Answer :-

. I W P B F & TR W B
9) 9 ATURYI I I TYad I H 91T :
g P! Ugl 99 UHS B JMH a W dle A3t

1. I Yo UGl o Udhe! quTfi XMW d R die 373l
2. Y98 &1 UgaH 89 Ush el 3R U db W dic 33|

3. 98 TSl o9 U s SR I dh TR dle 33|

4. Y[98 UA 99 Gl 3R XMW T W dle 33f|

Correct Answer :-

. YO8 B! UGl Y US| 3R UM dh TR alC 33|
10) T &1 3 B

1. 3& &1 Td, IR, TR &7 SaTan fewan

2. 9& BT T, TRUIH, HTel

3. 3¢ BT e, URUMH, TAdR T 3Tl R

4. & D1 B, URUMH, TH

Correct Answer :-

« & &1 W, URUMH, 4R BT 3T fgear
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11) 3T U A 9T W B
1. fod=
2. fag
3. dEH
4. §H

Correct Answer :-

12) 3P 3R Sifere &7 31 &:
1. I 3R TIH
2. T 3R HiT
3. 09 3R Td®

4. UAP 3R A&ID

Correct Answer :-

. B 3R TS

13) 98 A S 1 faPped <R ST raigar! T8 82
1. Hife

2. ROt

3. G

4. gt

Correct Answer :-

14) AR A S FTA BTV TSI 8 ?
1. U9l

2. T

3. 37l

4. 3{fYeT

Correct Answer :-

o AT
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15) 38 9 P HTd BT Ve T &2
1. qaidh HIcd

2. AEThTSH

3. gcpd

4, Uy BT

Correct Answer :-

16) 9 & & B A1 Aeg-gw, T 9 e TH 72
1. q¥fadw

2. ATG:arg

3. 303U

4, PR

Correct Answer :-

. cufagy

17) SR & S I JA 82
1. Sgsilfe 9™

2. HHYRT TAN

3. 5% 9HY

4, Ty oy

Correct Answer :-

- Sgsilfe FA

18) 3o &1 g}, iR & Rl goIR) gfckrat 3k Ferad et 8, e o SR & o @y T8t
%ﬁﬁﬁﬁf?ﬁﬁﬁﬂﬁﬁﬂﬁmﬁmwﬁﬁﬁ%l @ 91 59 fpar ) =St A
|

1. TG

2. fo=deT
3. ‘WP
4. ~g&yqup
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Correct Answer :-

19) ®Erg 3R Ferel &1 34d 8-
1. Fas 3R g &1 A

2. fpeieaR SR fea1 ®1 acH
3. HUCIBR 3R e BT T
4, HIRTGIHRT 3R YIdd &1 Ja-

Correct Answer :-

. HUCTPRY 3R g BT g

20) HEYUT B 3T T Hg IPd 22

1. U el
2. T YPR T HeTh A

3. U UBR &1 AHRID UIRT&0T
4. TP UHR P IRING aRyd

Correct Answer :-

. Tdh UHR DI AHRID URIE0

21) YT Hd GHY fH¥ 91d BT &A1 W1 A1fe0?
1. g1 I7d1 B TT-TTH ferg1 =g

2. 9t Ayt a1dl & geT ST AR

3. Ryt UT6® &1 Icuct a1d Sl @z Ul

4. DIs HeAYUl &1d e Tal Ayl

Correct Answer :-

. PIg HGAYU §1d e o) dMeT|
22) gdf fEdt F Aieh @

1. @raren

2. Bt

3. Bl
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4, 3fas

Correct Answer :-
. 3adt
23) PR DI ATH IdIU:
FIU 1 49 |, @ 9 Urit S|
Rt do1 9l 71, 9@ IR WrT
1, I 3ABR
2. SRR SfdBR

3. AfRP AABR

4. fAcef s

Correct Answer :-

. SffaerEfad SddR

24) R eI BT YATER’ BT THX UG 8:
1. IRTET

2. AU

3. faRTan

4. TRATET

Correct Answer :-

25) “YTell BT I YaTa F1 3 3:

1. Bt TgT SR it 9 &

2. Fft U U8t 3R HH IR B A |
3. Hf U gt SR Ft g el B g
4. P TP T 3R it g FooR 7 e

Correct Answer :-

« & U@ vg IR FHoft gER Ue H Xg|

26) ‘FReil fPT U P It 22
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1. ORI
2. ST

3. fewmaa uew
4. TEUCR

Correct Answer :-

. AU

27) FART B TSt 9ieit T RIT e 82
1. UG §3AT 1 UG R Ul T1T S[3+ a¥ed

2. Tl ot FoR IARAT
3. ST TR SdRAT
4. dRA aTe

Correct Answer :-
« TG §3HT T UG B o[ 7T S[3 aed
28) 3T B! AT T 9T DI’ FIT Hed 82
1. 3f=gadt
2. 3f=afHt
3. Sfqeq
4. 3faHA

Correct Answer :-

29) gid Wg BT GaTa¥ &1 AL 8:
1. TR BT

2. TR M

3. fO=aT @

4, IR PRI

Correct Answer :-

o RN hATI
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30) ‘GYBIP BT UMD fAUE &:
1. B B DS
2. §IY B el
3. B Bl Hal
4, BT DI Bl

Correct Answer :-

. TUYBI B!

31) <3TIRIHAT A 3w qubh &) T Fed 82
1. 3fd

2. Uqy

3. gy

4, 3ffaqfy

Correct Answer :-

32) JRIBIE: "R " aTelt T3 P @D 50 4 DI g2
1. Jadier™
2. HIHT BTUIT

3. TR
4. HER N

Correct Answer :-
. I GIARE!
33) g 3R U &1 3 ghm:
1. TR 3R ¢d
2. R ARA UG
3. TR 3R TR
4. AHT AR TSt

Correct Answer :-

. WIRTIE
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34) T &1 faaa 9= 8:
1. 3G

2. R

3. UEIR

4. 3fardA

Correct Answer :-

35) T YT & TS &7 Ft Sl HTAH 8:
IEEI]
2. TS
3. fmTof
4, fAaTSt

Correct Answer :-

36) U Fed §:

1. 3, g1, R i RITT UTall I UHIRIA T T B dTat 1T Pi AT |
2. XMd, B9, XM 3M1fG RIRK UTAT 1 UebIIRId AT ek B aTdl SIS |

3. 3fd, B, M 3M1f¢ TR HIdl 1 UHIRIA a1 Had R dTcil %Y Dl AP |
4. 3MTciSH JE U 31TG R HIdT DT FebTRI AT ek - dTell 1% bl AP

Correct Answer :-

. 3, B, WM Sfe VIR HIGT B UHIRIG T e B aTet 1T b AP |

37) AR U9 HETaT R

1. ggﬁu%aﬁmmsﬁET%WWmaﬁqgmﬁ%ﬁmwwﬁm%ﬁ?@ﬁwﬁ
|

2. ST 4Ta T d & fore R HId &1 gy - & FAfi Jere U H 31d § SR Ra g 81 o & |

3. ST Y19 $ad U1t R & fere fAde &1 gy o7 & P Jerae = # 811d § 8k qid g 81 9 & |

4, S Y19 Had YIS} &R F e favTa &1 gy o & it Tere =0 o o € 3R @¥d q 81 9 8|
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Correct Answer :-

. ;gﬁ?@wm@a%meﬁng$ﬁmwwﬁm%sﬁqw@m
|

38) ggalfl &1 wa! faeiy 3= B
1. GgU3!
2. gfcantt

3. GEHHT
4, foieh

Correct Answer :-

40) CANCELLED
Auge T AT
1. 3U™

2. BT HUT

3. T BT T UG

4, Jcpdl

Correct Answer :-

. HHADBITH VS

41) CANCELLED
FIRT PGS AN AT RTHEa ® 2
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1. TRHA G BTRM |

2. HIA R |

3. U R |

4. JYGR BT 37 HT HISl, I |

Correct Answer :-

« AAER BT T BT DI, B

42) <uY g A gl ugan, < g ger e
T TR BT HYad IR 99130 :

1. SR 81 H a8l ug, 3 8 Her ol

2. T 981 ugd 3R qRd gl goTl|

3. T 981 ugd1, o¥ g1 deT ool

4. <41 g1 & a1 ugdl gel a1 T4
Correct Answer :-

. H 98T ugan 3R g¥d del g

43) Y& I Id1C:

3TY IAP! TH: geddl H 81 38< GPhd |
1. §H 3! THAT B 78] 36% Thd |

2. 3T 37! THAT H 761 6% THhId |

3. 310 I ! GHdT § e 383 Iovdl |

4, 30 It AT & TE 38 Tohd |

Correct Answer :-

. Y ISP GHAT T 78] S Il

44) FafafEa mRfie g 3t T Tamsi?
‘Joint Secretary’

1. Yo g

2. 3R Fe=H

3. IS0 U
4. 3ffafkad ez
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Correct Answer :-

. g gl

45) Fufafea wivuiye s it & Tansi?
‘Commissioner’

1. Tgad

2. 3T

3. T

4, g

Correct Answer :-

46) frafafaa e 2o 3 Rish Famsi?
1. DISCUSSION

2. TREATY

3. TRAETY

4. TRITY

Correct Answer :-

« TREATY

47) 3 G IE ST g Aad |
Y 1 uTeA 3rPbd g g 3= I Wad | |

SWRI Ufeaal § S A1 34 &2
1. ARy

2. QA"

3. dR

4. YR Y

Correct Answer :-

o dlHY Y
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48) anft gg fo=Ry wmg f5 ¥, TRe &Y w1 39T
SR Ufaaal § S A1 3 82

1. A

2. HSURY

3. B T
4. 3539

Correct Answer :-
. XA
49) ETaRT qaTSA:
«3ffeP W aTal B 9gd HH @I fFAa=Te
1. S P Yg H ged!
2. 3¢ & g T SIRT
3. g1 & gg ¥ ufan
4. TNt S gg T SiRT
Correct Answer :-
. ScFHHEHON
50) ¢« W HEIURA P Sitad S THIET A YR B3 &b SROT, fafderdr ok iR g g
PTcd T ATH Fd1U;
1. Y B’
2. “TGTHI’
3. “UdY B
4, TGS B’

Correct Answer :-

51) HETed! gHT & HYATIAR:

" pfy faRiw B yrgAren &1 REpvr e
1. “SUARP

2. ey
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3. HEHP
4, “HIar

Correct Answer :-

52) G P -ATH IaTa:
TP YD IR0 A 24 AETE Bl € 1TUREd! 419 R gfd gl 2:

1. 9y

2. gRfiferenT
3. Al

4. Tt

Correct Answer :-

53) B¢ BT ATH Id13:

g T SR STATET & TNT A T 8| §Hb 4 AN A 24:24 ATATY U7 SHferA 3 =R0N  28:28
YT 26:26 HIATE gid! & | SHHA UYH IR Ufeal rar a1 ifaw &) Ul Searar &1 gt 21

1. STl
2. 9Wg

3. gRafiferant
4, TifcihT

Correct Answer :-

54) ST & Gt ue g
1. HT T 3R e Ud
2. FRreu ggf SR T e

3. TS 3R reft

4, 19 Ug 3R Ha1 &

Correct Answer :-

« TG U&f 3R BT U&f
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55) <3&R Rl Fel | yHTiRId g1 arelt ueT 82
1. AR

2. TR

3. NG

4, YU

Correct Answer :-

57) Uead & G- | AUTHRID qTdl BT SFATaRIS AR ardea® |
1. $H g1 AT

2. foaR S AT IRy

3. g1 =fe

4. foagpel T8t g1 =nfey

Correct Answer :-
- forcipe et g1 =Ry
58) HUT 3R HUf HT 34 3:
1. ST 3R B
2. ®T SR a1
3. HSAT 3R A
4, BT 3R HH

Correct Answer :-
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59) ‘Ieel AR Piaard &I Sic’ 3 GgTax &1 AY §:
1. IR B W HIdATd P GRI Sic ST

2. S{UAT 3URTY 3T V D B bidald R e

3. 3(UAT 3IRTY WHR 7 HRb YS aTdl DI 1Y &1

4. ST URTY WHHR R TS aTd I Gy &1

Correct Answer :-

o 3{TAT 3RTY WHHR 7 HIP GBS dTd B Gy AT

60) 3 T B! S A U 3R 12 feu T =z 13« &

U™ HT S+ 9gd YA gia1 31 S WL W HISATSAl BT JTHAT HIAT ST 2|
Y W S97 P gRT S 7w = e @) AR 59 7t w g @ A R IrEu S
o d T 3 | I8 IR HH B3 a1d A1 & YR UR g1 fewr ganm g1 3aar ot 37 swaf
Fd &1 TS U FH:qd b HRUT IF B | U= 8, TS BT Siia- |

Y : STad IR &1 IR e fefau)
1. ‘ORI BT
2. “HHA AT
3. ‘HHNA T
4, “HHIA AT

Correct Answer :-

61) T TE P A A U 3 1 few T umq F1IwR S

TS &1 S 9gd TUYHT gid1 8 | 39 W UR HISATSE) &7 1 ST Usar o fr i SR &
ERT S 79 =t ave @1 fAfifa 59 7dl =R g3 @ vt R 1 =0 € 9qa T 81 98 TR o
P A AT b YR W g o1 gonm 31 daar Hff 374 swuf wd & 1| 99 U+ oH:9a & SR
Y 8| U9 8, A BT SfiaA|

Y : 3 T & SR, TS HT g ST gl 82
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1. T &1 Sita oy Ifgd gl gl

2. U™ T Sitg dgd FRaR gl g |
3. U™ &1 offa 9gd Ja¥Hg g 5|
4. A &1 o 9gd YeyAd BT 8 |

Correct Answer :-

. Y &7 ofia- g4 GuYTg gl g |

62) U TE P A A e 3T 1 ey U umq #13IwR S

A PT oita 9gd SI¥Hd a1 81 I/ WU WR HISATSE! BT -1 AT usar gl R SR &
ER1 9 79w ¥ sRgM 9t Afffa 39 gadft wr g5 @ vt Relt &1 U 8 9 T 31 U8 IR &
P 91 TSl & MYUR R & feapt g 31 Tgar ot 379 Swuf wwd 1 v oA wf.9a & SROT
AT 71 4=T ], A BT ohaA|

Y : 39 TR & AR, W H B 91 U 82
1. Igsiife IO

2. HHYRT TAN

3. fa oo™

4. IUHTd JHTY

Correct Answer :-

o AIIYIT THH

63) 39 TR P A A Ue 3R 1 e T umq #1IwR S

A P1 ofta- 9gd I¥Hd a1 8 1 I/ WU WR HISAT34! BT -1 AT usar g1 R M SR &
ERT S 7S =t ave @1 fAfifa 59 7odt R g3 @ 9 R 31 =0 € 9qa A 81 98 TR o
P A AW b YR W g o1 gonm 31 daar Hff 374 swuf wd & 1| 99 3+ o 9a & RO
Y 8| U9 8, AT BT Siia-|

Y - 39 T & AR, SqdT fhad Tof #ed 82
1. I, GadT ¥ 381 X & |

2. 3T I I S B & |

3. 3ad1 U 3§ % B B

4. 3IA1 G149 I %1 A 5|
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Correct Answer :-

. AT AT ¥ TRf R §

64) 39 T &) &9 9 U 3R 1 R ey #13wR 3

TS &1 Sila] 9§ GUSHY gidT 8 1 39 W IR HiSA18al oI AT sATusar gl R W ssR &
ERT S 79w &4t IR 1 A 39 gdt R g8 @ 91 (R &1 =0 8 9ga Tar 81 U AR o
P A4 AT b MYR W g o1 gam 31 daar WY 37 swuf w=a B | 9w 3+ o ga & RO
Y 21 U= B, IS BT Siia|

WY 33 TR F IJAR, AT I AT 22
1. TS 30 o b HRU AY &

2. TS 30 Yo 9 & RO IT

3. A9 304 B1Y: TR & RO AT T |

4. 99 30A g P BRU I 2|

Correct Answer :-

. T 30 HH.9d & DRI AT g |

65) 3 U H! T Q¢ 3R 1= 2T T8 U= #13I°R &

AT Bl § IS TADR
SRTHT ¥ SIS TS |
T Pl § dal Ih
9 IR W 3Fs feans |
T HXT g qTET TTB
W T 99 R 49 015 |
T BT g UTUT §HR
# Y 3o U TeT |
T Pl g faad e
TG ISATS |

T BT ¢ HIAA AP
WS a1 |
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TY: gR:gR | BI AT AP 8?2
1. 3{ifad SAPR

2. UPH AABR

3. IHET 3ADBR

4. TSI DIR SADR’

Correct Answer :-

66) 3 U B! T 9§ ¢ 3R 1= 2T ¢ U= &1 3R &

T BT § R IR
STRTHT H SIS TS |
T Pl § dal Ih
T IR R 3PS fe@rs |
T HXT g T B
W T 99 W 49 TS5 |
T BT g UTUT §HR
# Y 3o U Ter |
T Fvar ¢ faad a7
TG IS TS5 |

T BT § HIAA AP
WS Sa 15 |

WY T ST SIHR T HIAT A18d1 872

1. ST91 I<] ISP TR T Id WR 419 STHMET I18dT 2|

2. II1 ST §9HR TR T Id R g9 SHHET Irgdr g |

3, 9] 9191 SR TR T 99 TR 19 STHET I1edl 2|

4. 9191 ST IR G STHET I8 & |

Correct Answer :-

. S ST TP R T I W 4G STHET Igdr g
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67) U UG I U A U 3R T2 few M yzq 1 3wR ¢

T Bl § R IR
ARTAT ® qS TS |
A T § 9al TTIx
Y Rl W s fGErs |
T AT § 19T TTH
WY 96 R 49 TS |
T BT g UTUT §HR
# Y 3o I TeT |
A v § faael! s
W ISAT TS |

T BT § PIAA ITDR
e WS Sa 1 |

ua:wwwmmé?

1. I §aT8 OIETSl SR gR—gR IS dTedl 8
2. T QT IR GR-gR 31 I18al ¢ |

3. S Uefl SR gR-gX ST IgaT 5 |

4. g1 fadell SR gR-gR I&-1 Al g |

Correct Answer :-

. S fdel SR gR-gR IS ArEdl g |

68) 3 U B! T 9 ¢ 3R 1= 3T T8 U= #1 IR &

T Bl § IS TR
STRTHT H SIS TS |

T BT § TG TTB
9 IR W 3Fs feans |
T HXT g TTET TTB
W T 99 W 4T T |
F A & T TR
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# oft 3o o Terd |
A v § faael! s
TR ST WS |

T A1 8 DI IAB
WSS A g |

Y ST 9l R ST a8l a2
1. Y S 98 711 R GR @M1 ared g

2. Y {5 I8 UTIT IR 31 s feam argar |
3. 341 {5 98 AR &I U= IR fear 1 agar g
4. 1 fop a8 IRI W 3fbs @ Irgar gl

Correct Answer :-

. & 98 IR R 3fbs e g |

69) U U &I U A U 3R 11 R Mg ys 1 $13wR &

T Bl § GRS IR
RTA | 3 TS |
A T § 9al TTY
9 aRI R @S ffErs |
T AT § 9197 TTH
W I R 49 TS |
T HXT g UTUT §HR
# Y 3o I Ter |
A v § foael! s
FLE-UCELIE I

T BT § PIAA IAHR
WS Ta J1 |

UY: PTod P Ifad e w82
1. FH B AT
2. <&/ BT AT
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3, a9 B AT
4. ‘Y] Y fHAToT
Correct Answer :-

o T BT AT

70) IAP! faxm S T 31’

39 9199 § TS TAd Vg BT TART §3MT 8, I oG P JAH SHPT Wl Ueg Ygn—g?
1. 3D

2. G

3. femd

4. TG

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

She hid her disappointment _______ a smile.
1. without

2. with

3.1in

4, through

Correct Answer :-

o with

2) Choose the appropriate preposition for the given sentence:

We recommend you to take advantage this offer.

1. at

2. in

3. off

4, of
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Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

Any illegal goods will be confiscated _______ the customs officials.
1. to

2. off

3. with

4. by

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

He lied me the incident.

1. by, in
2. for, at
3. at, on

4. to, about

Correct Answer :-
e to, about

5) Choose the appropriate articles for the given sentence:

There was signboard at entrance of the boutique informing passersby about its launch,
next month.

1. a, the
2. an, an
3. an, the

4. an, a

Correct Answer :-

e a,the
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6) Choose the appropriate articles for the given sentence:

He has nerve to publish article that could cause friction among the different sections of

society.

1.3, a
2. the, the
3.an,a

4. the, an

Correct Answer :-

e the, an

7) Choose the appropriate articles for the given sentence:

lack of communication skills is frustrating and can make aspiring student oversensitive.

1. An, the
2.A a
3. An, a

4. The, an

Correct Answer :-

8) Choose the appropriate articles for the given sentence:

Instead of apple, she ate bowl of porridge for breakfast this morning.

1. a, the
2. an, the
3.an,a

4, the, an

Correct Answer :-

9) Choose the appropriate usage to fill in the blank:

We tried hard to get the problem solved without any help.

1. real
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2. greatly
3. really

4, extremely

Correct Answer :-
o really

10) Choose the correct form of verb for the given sentence:

Phosphates ____ to most farmlands in America.
1. need to adding

2. need to add

3. need to be added

4. need added

Correct Answer :-
¢ need to be added

11) Choose the correct form of verb for the given sentence:

Last week, Jenny ____ most of her holidays on the beach.
1. spent

2. spends

3. was spending

4. is spending

Correct Answer :-
e spent

12) Choose the correct form of adverb for the given sentence:

| accepted the new task
1. carefully

2. greatly

3. methodically

4. willingly
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Correct Answer :-
o willingly

13) Choose the correct form of adverb for the given sentence:

Heruled _____ for many years.
1. wisely

2. hardly

3. interestedly

4. interestingly

Correct Answer :-
e wisely

14) Choose the correct form of adjective for the given sentence:

The villain in the movie hates the hero and desires to harm him and so becomes
1. violent

2. good

3. crude

4. benevolent

Correct Answer :-
e violent

15) Choose the correct form of adjective for the given sentence:

Meghna uses her common sense; she is always
1. sensuous

2. hypersensitive

3. sensible

4. sensitive

Correct Answer :-

e sensible
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16) Choose the correct form of expression to complete the sentence:

His partner died, and this added to his ____
1. difficulties

2. progress

3. dangers

4. fortune

Correct Answer :-
o difficulties

17) Choose the correct form of expression to complete the sentence:

He spoke in a distinct
1. method

2. voice

3. speech

4. sound

Correct Answer :-
e voice

18) Choose the correct form of tense for the given sentence:

| shall not go swimming until the sun out.
1. will have come

2. is coming

3. will come

4, comes

Correct Answer :-

e cCcomes

19) Choose the correct form of tense for the given sentence:

He in love with her over a year ago.

1. fell
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2. falls
3. has fallen

4, fallen

Correct Answer :-
o fell

20) Choose the correct form of tense for the given sentence:

I know all about that film because | ______ it twice.
1. have been seeing

2. have seen

3. am seeing

4. will be seeing

Correct Answer :-

e have seen

21) Choose the correct form of tense for the given sentence:

If the painting is good, they it in the exhibition.

1. will hang
2. will have hung
3. would hang

4. hung

Correct Answer :-
* will hang

22) Choose the most suitable determiner for the given sentence:

Let'slistento____ music on the radio.
1. afew

2. some

3. little

4. much
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Correct Answer :-

23) Choose the most suitable determiner for the given sentence:

participant is expected to obey the rules of the game.
1. Any
2. All
3. Either

4. Every

Correct Answer :-

24) Choose the active voice of the sentence.

The poor are helped by her.
1. She is helped by the poor.
2. She is helping the poor.
3. She helps the poor.

4. She helped the poor.

Correct Answer :-
* She helps the poor.

25) Choose the correct form of modal auxiliary verb for the given sentence:

The car broke downand we ______ to get a taxi.
1. have

2. had

3. are having

4. has

Correct Answer :-

e had
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26) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: A suitable title for the passage:

1. Henderson Island: A Pitcairn volcanic island

2. The problems on Henderson Island

3. The once pristine Henderson Island is now covered with waste

4. The endangered species of Henderson Island

Correct Answer :-

» The once pristine Henderson Island is now covered with waste

27) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
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miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: What is the main idea of the passage?
1. Henderson Island, though untouched by humans, has become the most polluted places on earth.

2. Henderson Island is today looking ugly with the amount of trash dumped there because of human
settlements

3. The trash on the island is harming marine life since fishes eat the colorful plastic pieces mistaking them
for food.

4. The waste is turning out to be alarmingly dangerous to the ecology.

Correct Answer :-

» Henderson Island, though untouched by humans, has become the most polluted places on earth.

28) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.
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Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: The underlined phrase, “just the tip of the iceberg” in Paragraph 3 in the passage
means:

1. All of the above
2. There is more junk under the sand that meets the human eye.
3. The pollutants are fishing-related debris, like lines and nets, and single-use household items.

4. The sandy beaches have a lot more of biological diversity and untouched ecology today.

Correct Answer :-

e There is more junk under the sand that meets the human eye.

29) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”
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The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like
lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the
sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,
may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: Which of the following statements is FALSE according to the passage?
1. According to the researchers, over 68% of the junk is found on the sand.

2. The trash found up to 10 centimeters below the sand, may be underestimating the full extent of the
pollution.

3. The tiny island is home to over 38 million pieces of waste.

4. The island is harmful to the wildlife living there.

Correct Answer :-

» According to the researchers, over 68% of the junk is found on the sand.

30) Read the passage carefully and answer the question given below:

Henderson Island in the South Pacific Ocean has always been known for its remarkable biological
diversity and untouched ecology. Now, the remote UNESCO World Heritage site that lies 3,100
miles (5,000 km) from the closest human settlement, can also lay claim to being one of the most
polluted places on Earth.

Jennifer Lavers, a researcher from the University of Tasmania’s Institute for Marine and Antarctic
Studies who has been studying the coral atoll for a few years, says the tiny, 14.4 square miles
(37.3 square kilometers), island is home to over 38 million pieces of waste. According to the
scientist, this is the “highest density of anthropogenic waste recorded anywhere in the world,
with 99.8 percent of the pollution plastic.”

The amount of trash is surprising given that the island, the largest of the group of four Pitcairn
volcanic islands, has no residents and is visited by scientists only once or twice every decade.
However, as it turns out, humans do not need to be physically present to pollute an area. In this
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case, the trash is brought in by the South Pacific Gyre, an ocean current that sends garbage
bobbing through the sea to Henderson. The primary offenders are fishing-related debris, like

lines and nets, and single-use household items.

What's even worse is that the unsightly rubbish scattered across the island’s sandy beaches is
just the tip of the iceberg. According to the researchers, over 68% of the junk is buried under the

sand. This means their estimates, based on the trash found up to 10 centimeters below the sand,

may be underestimating the full extent of the pollution.

Besides being aesthetically unpleasing, the waste is also harmful to the island’s wildlife. Lavers
and study co-author Alexander Bond discovered hermit crabs taking refuge in toxic cosmetic
jars, and sea turtles, which come to the island to lay eggs, get entangled inside fishing lines. The
trash is also harmful to seabirds and fish that mistake the colorful plastic pieces for food.

Question: According to the passage, what could be the main cause of the island’s dangerous

state?

1. Scientists

2. The ocean currents that deposit garbage bobbing through the sea to Henderson

3. The island’s geographical position as it lies closest to human settlement

4. Residents

Correct Answer :-

» The ocean currents that deposit garbage bobbing through the sea to Henderson

Topic:- General Knowledge

1) 1f 3" of the month is Friday what day will be on the 4th day after the
215t of the month?/ af¢ AEH &1 dIRT 39 Jhar & @t ST A & 21 TG & 91 &

1Y fe=1 i w1 fe= gk
1. Wednesday/ g4dRR

2. Tuesday/ HITAdR

3. Saturday/ YfAAR

4, Monday/?ﬁ'ﬁaﬂ

Correct Answer :-

. Saturday/ IMHaR

2) sudesh ranks seventh from the top and 28th from the bottom. How many
students are there in the class?/ &= &1 Y A Haai R § 94T 1 & 2831 RIF &1

S | BT B TE fea-l 82
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1. 35
2.28
3.21

4.34

Correct Answer :-

3) In the following question, select the related letter/word/number from the

given alternatives:/ fFAfefad vz # fou v faweul & & TwaRa sieR /e &1
R

24 : 60:: 120:?
1.108
2.220
3.160

4. 300

Correct Answer :-

- 300

4) In the given diagram, Circle represents strong men, Square represents
short men and Triangle represents military officers. Which region represents
military officers who are short but not strong?/ f3€ ¢ 3R ¥, ga aTHaar goul
®) qufar 8, a7 St goul &) guifar @ ok RAiys &= siftreiial o) qxifar 81 19 a1 &= 34
Q7 fp1ieal ) g=ifar & o BI § AfPp dPpaas T8I 8?2

2.2

3.3

4.1

Correct Answer :-
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5) DIRECTIONS: Solve the alphanumeric series given below:/ &= =& 78
IR Fo7t B g6 B

A4, D8, H16, M32, ?
1. P64
2. S64
3. 064

4. R64

Correct Answer :-

6) Select the related word from the given alternatives:/ f€ ¢ fdeeul & 9 fauw

1&g @1 gAT:

POINT : LINE::/ fdg : ¥a@m:

1. Triangle: Square /ﬁHGr - i

2. Centre : Circumference /% - ORIy
3. Word : Newspaper / Reg : HEAR-UA

4. Line : Circle /%I : 9d

Correct Answer :-
« Word : Newspaper / Roq : GHRR-UF

7) Select the correct combination of mathematical signs to replace * signs
and to balance the given equation:/ * ﬁa’raﬁamﬁ%ﬁmaﬁvﬁqwmﬁwaﬁ
Hgfera @3 & forg it ddbdl &1 agt | gA:

5*5*5%3 %10
1.+ - X =
2.+ - =X
3.+ + X =

4. % + = X
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8) Which figure represents the exact relationship with the variables given in

questions?/ B aTHfa uy A fau ¢ srqgat & A1y fAfda ddu o guifdt 82

(COR@ED)
- & .00

Animal, Dog, Cat/ U¥], F, face
1.D
2.B
3.C

4. A

Correct Answer :-
e A

9) Which one will replace the question mark (?)?/ fF= % & &9 w4 g (?) &t

yfaRITd Bm?

25 101 ?
?/\24 :{]/\ 09 u/\m:
1. 61
2.75
3.93
4. 44

Correct Answer :-

10) During which of the following festivals is the Baredi folk-dance performed?/ fafafaa

9 frg Ia & SR N} AP T fbar wirar 32
1. Diwali/f&areit
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2. Holi/ giait
3. Janmashtami/\—ﬁ:lTQTﬁ
4. Baisakhi/ STl

Correct Answer :-

« Diwali/fearcht

11) Since which year did Gandhiji enter active politics in India for the first time?/ fPaad
i St A ugelt IR URT § Afeha Irerifa # waw fosar ur?

1. 1917
2.1918
3. 1919

4. 1916

Correct Answer :-

« 1917

12) Sakhya Sagar, an artificial lake is situated in the — / I&IT AR ATH® ?ﬁ'ﬁ @H ﬁT
R g?

1. Madhav National Park/ HI¢d IS eI
2. Pench National Park/ U9 1814 -

3. Kanha National Park/ &TgI QT@T[ 3™

4. Fossil National Park/ SdT=H (81T JEH

Correct Answer :-
« Madhav National Park/ @19d T@T[ REIGI

13) Till the formation of the Chhattisgarh state, Madhya Pradesh was the state in
India./ BTG X5 P TS dF, T U HRA BT M AT

1. Largest/ SRR

2. Second Largestlmﬂaﬁa@
3. Third Largest/ Fﬂﬂﬂﬂ"@@@
4. Fourth Largest/ Eﬁ?ﬂﬂaﬁw

Correct Answer :-

o Largest/ qey dgl
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14) The Fair of Mahamrityunjay in Rewa is held — / a1 & WgTqcjera A raiford fosar sirar

1. Every 2 years/ a2 a9 o
2. Every 3 years/ PIckELE:
3. Every year/ ufa s A

4. Every 5 years/ gfa 5 a8 A

Correct Answer :-

« Every year/ Ufd as§ &

15) The Nobel laureate Liu Xiaobo who recently passed away belonged to -/ aﬁaww
faorar ferg Rratenat formeT g1a 8 & fes 8 T o, wgT 9 Jwafia 37

1. China/ @H
2. Japan/ NI4T

3. Thailand/ UTSAS

4. North Korea/ 3tR ST

Correct Answer :-

« China/ @4

16) In which year did Baji Rao | conquer Bassein from the Portugese?/ ERELEEIEIRICE
= gemTelt & af¥= ot oita feram ure

1. 1738
2. 1741
3.1739

4. 1740

Correct Answer :-

« 1739

17) In which year did the Madhya Pradesh Government introduce the Samadhan Online? /

AU 39 WPR A fhd 9 & gaYH sifaarg &1 3R fear?
1. 2009
2. 2006

3. 2008


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

4. 2007

Correct Answer :-

« 2006

18) In which year did Peshwa Baji Rao Il cede a greater portion of the Sagar district to the

British?/ frd af & dzrar areit 319 fgdiy A 9rR ford &1 v a1 YT fafesn &) | fear ur?
1.1819
2.1818
3. 1820

4. 1821

Correct Answer :-

- 1818

19) In which district is the Ahmadpur Rock Shelter found?/ [GHGYR i® eex fod fora &
fRag?

1. Khandwa/ @sdl
2. Vidisha/ fafe=
3. Rewa/ 3Jd1

4. Raisen/ YT

Correct Answer :-

e Vidisha/ lalan

20) In which year was the Tulsi Award founded in Madhya Pradesh?/ & ye=r o ﬂ?l'\‘ﬁ
R fodg o & wifud far war ur?

1. 1980-81
2. 1983-84
3. 1982-83

4. 1981-82

Correct Answer :-

« 1983-84

21) Who was the father of Ashoka?/ M & fUar s A2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24

7

1. Chandragupta Maurya/ Isi«d A1

2. Brihadratha/ g4

3. Bindusara/ fogaR
4. Kunala/ Ul

Correct Answer :-

« Bindusara/ fo/gaR

GET IT ON
Google Play

22) Which of the following

frafafad o SusRui A 3
1. Mridang/ &
2. Dafli/ % dl

3. Tabla/ ddlcll

4. Khol/ QI

Correct Answer :-

+ Mridang/ g7

m instruments is used in the Swang folk-dance?/

T AT Ap-Jod ® SUART forar sirar 82

23) Which of the following instruments has its strings made of horse-hair?/ frafafead d

HH- A AT TF P IR 9IS S 910 A 949 872

1. Ektara/ ThdR]
2. Chinkara/ RI®RI
3. Khamak/ -dHdbh

4, Rawanhatta/ TdUlg <l

Correct Answer :-

« Chinkara/ RiRT

24) Which of the following clans of Rajputs is the Khajuraho temple associated with?/

Ioydl & Fafefad 9 # @ F9- 91 TuRTe) Al | JS1 g 872
1. Parmara/ TRAR

2. Chandela/ 9@

3. Baghel/ §9d

4. Tomar/ AR

Correct Answer :-
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« Chandela/ ﬂéﬁ

25) When was the Panna National Park declared a Tiger Reserve?/ Ul ?Tfl’q ROICK:d]
TSR ord e ifta far mar ur?

1. 1996
2. 1995
3. 1994

4. 1997

Correct Answer :-
¢ 1994

26) Where is the Gun Carriage Factory situated in Madhya Pradesh?/ qmu&mﬁm%ﬁa
Paedl vl fRua g2

1. Jabalpur/sTeeiyr
2. Bhopal/ Hrard

3. Indore/ AR
4. Gwalior/ TTeIR

Correct Answer :-

« Jabalpur/SIgeiyr

27) Where is the Netaji Subhas Chandra Bose Airport located?/ Adreit JHY % 9 331%
g1 wel fRT 82

1. Mumbai/ §&8
2. Delhi/ feeatt

3. Bengaluru/ W
4. Kolkata/ SIeiepTdl

Correct Answer :-

. Kolkata/ BBl

28) Where was the 19" RCEP Trade Negotiating Committee Meeting held?/ 194} RIS
IR ardt A & 955 wei B 18 A2

1. Hyderabad/ %azlala
2. Bengaluru/w
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3. Kolkata/ SIeiepTdl
4. Amritsar/ 3HddX

Correct Answer :-

« Hyderabad/ %azlala
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29) What is the capital of Spain?/ ¥ & ISTUT-I T 872

1. Madrid/ Afgs

2. Bucharest/ W
3. Belgrade/ SaUS

4. Warsaw/ aregr

Correct Answer :-

« Madrid/ Afgs

30) What does the ‘I’ in MPTRIFAC stand for?/ THHISRIMETHEA! # *3mg &7 31 a1 872

1. Industry/'é'@?j

2. Investment/ Eﬁ@?
3. Income/ gdhH

4. Investor/ $A%R

Correct Answer :-

« Investment/ $A%HC

31) Which Gharana did Krishn Rao Pandit’s singing belong to?/ Wﬂﬂﬁ%ﬂiﬂw

- A WA G Gafd §2
1. Maihar Gharana/ aBT YRTAT
2. Indore Gharana/ 36 T YRTAT

3. Gwalior Gharana/ TaTferaR ORTAT

4. None of these/ 'EFI'E[ q ﬁg :lﬁ

Correct Answer :-

« Gwalior Gharana/ TTfeIaR ORI

32) Whom did Akbar send to capture Mandu?/ (@R o Hig UR Hoeall B & (¢ fHd der

Yr?
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1. Mohammed Khan/ HIgWIE T
2. Bairam Khan/aTH@l'F-[
3. Kamran Mirza/WTITIT-[ﬁI\_rﬂc

4, Adham Khan/ 3{YH Wl

Correct Answer :-

¢« Adham Khan/ 3YH Wl

33) Over which of the following produce does the Madhya Pradesh Government have a

trade%monopoly?l fFrufafad # 9 9 91 79U IRPR 1 T ATUTRS THIUPR ardl
30U 872

1. Sal Seeds/ ITd &I ol
2. Cotton/ dUTH
3. Teak/ 911

4. Wheat/ g

Correct Answer :-

« Sal Seeds/ ITd &I S

34) The following question is based on a code language in which FORMATION
is written as ZSXTJOBSL and RACIAL is written as XJNBJQ. How is RATIONAL
written in this Ianguage’/ﬁ'ﬂﬁf@ﬁﬁﬂﬁ WWWWWW&H%W
FORMATION ! ZSXTJOBSL 4T RACIAL &I XINBJQ forar Sirar 81 39 yrr
RATIONAL & forar mar 32

1. XJOBSLIQ
2. XJOBSILQ
3. JXOBSLIQ
4. JXOBSILQ

Correct Answer :-
« XJOBSLIQ

35) In a certain code BRIGHT is written as JSCSGF. How is JOINED written in
that code? /T fAfid $e YT &, BRIGHT &1 ISCSGF a1 STa1 8 | JOINED 39 %
#, S foram Smm?

1. JPKEFO

2. None of these/3T8 4 &S gl
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3. KPICDM

4. JPKMDC

Correct Answer :-

« None of these/sﬂ'ﬁ‘@fﬁ'sc:@

36) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi’lﬂ: T-ﬂ%ﬁ'ETI'EWﬁWﬁW 3R IqH
¢ 0 fwd far 7T § 1 MUt AT T Syl &1 I U= € Ha 8 @ gdya g | e
wofta gia 8f | wft frsput &) ufew fi aa wifore % faw e fAreut & @ w-ar s feg e
FYA! BT THIAN $U A SFEV Rl 8, TTe Gagd a4 o W gl

Statements:/ ®YH:

Some gates are keys./ $S ¢IdmS, TfAAT 3|
Some keys are locks./ $ T19dl, aA 81

All locks are woods./ 94i 1d, AHSI 81

No wood is gate./ ﬁ%ﬁiﬁﬁ, Wﬁqﬁ%l
Conclusions:/ﬁwﬁf:

I. No lock is gate./ ﬂﬁ's‘?nFIT, mﬁqﬁﬁl

II. Some woods are keys./ $S a®Hs!, AfAAT |
III. Some keys are not gate./ Wm’,mﬂﬁ%l
1. None follows/ @13 Ht WT@W%

2. Only I and II follow/ %ad I 3R I 3{I¥RUI Hd &
3. Only I follows/ %dd I IR BT §

4. Only II follows/ %ad II 390l Hdl §

Correct Answer :-

« Only I and II follow/ %ad I 3R II SITRUI & &

37) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ!ﬂ: T-ﬁ%ﬁ"!‘TEWﬁWﬁW 3R IqH
q1¢ 90 et fiu e 71 simue) fau T Y=l &1 I 9=+ 8 M €1 3 Tdaa 9l | i
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wofta gia 81 | 9t st &) ufew fir aa sifore % faw e et & @ w9 fsed few e
FYA! BT THIAT $U A SFEIV Rl 8, TTe Gagd a4 o W gl

Statements:/HY:

Some cars are wheels./ $3 TR, TRT F|

All wheels are branches./ 941 ufgu, Srferar g1

Some branches are tins./$o siferdl, A7
Conclusions:/ﬁ'ﬁﬁ&:

I. Some cars are branches./ $ ®R, SIfedr g

II. Some tins are branches./$® feq, sife@r g1

1. Only Conclusion I foIIows/av_q’EfﬁWGfI WUTW%

2. Either Conclusion I or II foIIows/EITﬁTEb'BTI gqr Il &@TUTW%
3. Only Conclusion II follows/ &dd Y I1 WW%

4, Both Conclusions I and II foIIows/Eﬁ:ﬁﬁEﬂme%’

Correct Answer :-

« Both Conclusions I and II follows/ GiFi F5hY 3FJaRUT #3d &

1 —

347

If 4, then the value of x is:/df¢ 7Ty,

Y x BT HMH JTd PITY|

12
3. 17

E
4,17

Correct Answer :-

39) Which of the following fraction is the smallest?/f= Y © 1 3t 999 B %?
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15 19 24 34

16'20°25°35
19

1. 20

24
2. 25

15
3. 16
34
4. 35

Correct Answer :-

40) Kathir is senior of Ganesh. Ganesh is senior than Apparu. Apparu is junior of Raju. Raju is

junior of Ganesh. Who is the most senior?/ ﬂ)'lﬂ?, Trrh*aﬁaﬁ‘g%l 1Tl'h'51T, U ﬁaﬁgél ST,
I A FAF 1 I, T A FAF &I FeA aRY DB 2

1. Kathir/ ®TfR
2. Apparu/ W
3. Ganesh/ 01T
4. Raju/ 5]

Correct Answer :-

« Kathir/ ®1R
41) CANCELLED

What type of mirror can be used to obtain the real image of an object?/ ot

fis 9 areafas ufafds g9m  forg w819 aren gdur S 3

1. Convex mirror/ 3{ade GUul

2. No mirror can produce a real image/ oI ot gUur arafas wfafds T8 s Tar
3. Plane mirror/ qHde GUUI

4. Concave mirror/ BHFTEC?UT

Correct Answer :-

« Concave mirror/ BT‘IFIE"CT'UT
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42) CANCELLED

Which of the following districts of Madhya Pradesh shares its borders both with the states

of Uttar Pradesh and Chhattisgarh?/ HW%ﬁEﬁ'@HﬁFﬁﬁﬁﬁ?- 1 forem = uewr
IR BRI ST T4l & 1Y HHT AT FHRaT 82

1. Damoh/GHg
2. Sidhi/ Hidt

3. Jhabua/ ATg3HT
4. Rewa/ 3Jd1

Correct Answer :-
« Sidhi/ TRt
43) CANCELLED

DIRECTIONS: In the question below are given few statements followed by
few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%-'{l: :ﬂﬁﬁquﬁﬁﬁﬂq 3R b
91¢ 9 ey fau e § 1 3mus) AT T Hy= @) I W=AT € Ha 8 3 Tdya g | e
Udid gid g1 9+t et o1 ufeu fibr au Fifeme f fau e faseul & F Hi9-ar1 fasey faw e
HYI BT IHUNT TU I ST HIAT 8, T8 TI9d 9 5o W 7|

Statements:/PY:

All pencils are houses./ 94 144, T9s 1

All houses are eraser./ QT‘l-ﬁ‘c'R, Wts'%'l
Conclusions:/ ﬁWEf:

I. All pencils are eraser./ Hﬁ-ﬁaﬁﬁ, WS%'I
II. Some erasers are pencils./ PO TS, ﬁﬁlﬁ?l
III. All erasers are pencils./ mﬁws, aﬁlﬁ%'l
1. Only I and II follow/%dd I 3R IT IRV Hd &
2. None foIIows/ﬁ'ﬁt &W:@W %

3. Only II follows/&dd 11 3{IERUI HRT §

4. All follow/ T4t 3IRUI 3 §

Correct Answer :-

« Only I and II follow/ad I 3R II 3{IERU HRd &
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800 chocolates were distributed among the students of a class. Each student
got twice as many chocolates as the number of students in the class. The
number of students in the class was:/800 JTHdc TH BT & faenial & aidt 1)
Ife TP BT B T A BTEH] P B P QI Aipare e 8, @ Fam A Sl 3 Ie At

1.20

2.35

3.30

4.25

Correct Answer :-

The simplification of

=
LAl L

46) A and B invested Rs.7,000 and Rs.10,000 respectively in a business. A left the
business with his money after 9 months and at the end of the first year they
earned a profit of Rs. 6100. What is the share of B in the profit?/ A 3R B
foreft YR H HHRM: Rs.7,000 3T Rs.10,000 AW HA & | A, 9 HEH I 3T A AP
TR BIS a1 8] USA UIeT P 3id § & @Y Rs.6100 2| B BT A1H § < =am ghmm?

1. Rs.4800

2. Rs.5600

3. Rs.2600

4. Rs.4000

Correct Answer :-
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» Rs.4000

47) If the students of a class can be grouped exactly into 6 or 8 or 10, then the
minimum number of students in the class must be: /3l T $&IT H1 BT 61 6 AT 8
T 10 & TYEI T gleT 1T 3 °, Hem § <HaH fha- s 82

1. 120
2. 240
3. 60

4. 180

Correct Answer :-
e 120

48) A sum of Rs.1600 gives a simple interest of Rs.252 in 2 years and 3 months.
The rate of interest per annum is:/ Rs.1600 B Y-RTRT U 2 9 3 u'gﬂﬁmmwm
Rs.252 B, TSI $1 ST B:

1 6%

2 7%

3 8%

1
. 55%

Correct Answer :-

49) In what time will Rs.1000 becomes Rs.1331 at 10% per annum compounded

annually?/10% aTY® Tshgfek TS DI &2 I Rs.1000 fHa- I97T & Rs.1331 8 FARITI?
1. 2 years/ 299
2.3years/ 3 G
3.5 years/ 59y

4. 4 years/ 4 Gl

Correct Answer :-

e 3years/ 3 G
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50) Who is known as father of ‘texonomy’?/ WWWWWWW
&
1. Linnaeus/ fafag

2. None of these/ SRIgd 7 I dv\lsfﬁ

3. Theophrastus/ fﬂﬂﬁ’?}f
4. Lamarck/ NEIED

Correct Answer :-

. Linnaeus/ iAo

51) A train with a uniform speed passes a platform, 122 meters long, in 17
seconds and a bridge, 210 meters long in 25 seconds. The speed of the train

is: /T AT A A Tl §3 TP YS! 122 Hie dd WewH & 17 G H a4 210 Hiex dd
Jd 1 IR H2 0 25 Ah S &1 AT At 8 | Yes! 31 1fd qarse|

1. 37.5 kmph/37.5 fHi/Ee
2. 39.6 kmph/39.6 foHi/EieT
3. 46.5 kmph/ 46.5 fopeii/EieT

4. 37.6 kmph/37.6 fHi/Eer

Correct Answer :-

« 39.6 kmph/39.6 foreii/Eer

52) A train is 125 m long. If the train takes 30 seconds to cross a tree by the
railway line, then the speed of the train is:/1zsﬁaaa1€ﬁw§wn@§ﬂ%aﬁ=r
F PR TS TP U & UR HIA A 30 Y BT 9T Ad! 3 | IS o1 T Ia15¢|

1. 12 km/hr/12 fo&H/Eer
2.15 km/hr/15 fpHi/Eer
3. 16 km/hr/16 f&HI/der

4. 14 km/hr/14 T&HI/EeT

Correct Answer :-
« 15 km/hr/15 foei/eer
53) One of the pandemic diseases is?/ 9 # § &9 I T M7 (FHT) AETHRI &:

1. Filariasis/ g1t ar@

2. Influenza/ YU
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3. Hepatitis/ %ﬂ?l’sﬁﬂ

4. Amoebic dysentery/ BIER]

Correct Answer :-

+ Influenza/ SUIUST

54) From the given alternative choose the one who is different from other

three alternatives./ f3T 7¢ fdweul o @ 39 fawe &1 gfAg, o s 4 faweal @ AT 81
1. Smuggling/m

2. Blackmail/ 'J-Ffﬂ'cﬁ%:[

3. Forgery/ SISl

4. Snobbery/ Yl

Correct Answer :-

e Snobbery/ JWdl

55) The gravitational force with which the sun attracts the earth?/ i o1
T¥d A gt &) pfa #var & 982

1. Is less than the forces with which earth attracts the sun/ wwﬁwm%mﬁqﬁ
g &1 3ThTd B &

2. Is the same as the force with which earth attracts the sun/ HEBHWQ’TW%@[
o gt I &1 ST el ©

3. Is more than the forces with which earth attracts the sun/ RRCIE: &mm%ﬁm@
g2t G DI BN Bl &

4. Is constant through the year/ ¥ Td gaH Igd %

Correct Answer :-

« Is the same as the force with which earth attracts the sun/ H%’BHW%W%G?[
Ty gt g 1 ST el ©

56) While sowing seeds, the fertilizer commonly used contains?/ e &1 Aua
YUY HTHTAG: P AT Ia¥P IUANT H AT STl 8

1. Calcium/ &fegd

2. Potash/ TreT

3. Phosphorus/ BRHGRY
4. Nitrates/ ﬂ]’s’E’E
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Correct Answer :-

. Phosphorus/@@ﬁw

57) The deficiency of vitamin A causes?/ facIf¥F T &1 & A H19 1IN ) P18
1. Weakness/ HHSIRL

2. Dysentery/ QX

3. Hair to fall/ STal &1 ST

4. Right blindness/ 13 3{&/dr

Correct Answer :-

« Right blindness/ 1 3ferar

58) Alloy steel containing chromium to resist rusting is known as?/ ﬁrsr%rrg:

THTd A P gd1 @ St S & Ufd SRy BT Bl HdT & 39 fovd 19 I =1 ST 8
1. Wrought iron/ WTFﬁET

2. Stainless steel/ WY Eld

3. Hard steel/ &S iigl

4, Cast iron/ WFﬁET

Correct Answer :-

. Stainless steel/ TTdY WA

59) The dreaded human disease, syphilis, is caused by?/ TH SHAdT AT INT
Hfrely &1 PRS &2

1. An animal parasite/ Udb Si=] URGid]!

2. A bacterium/ T a1y
3. Virus/ faumg

4. Fungus/ sdadh

Correct Answer :-

« A bacterium/ T SidIy]

60) 1f the sum of the interior angles of a regular polygon be 1080°, the number

of the sides of the polygon is: /f&l EIE‘{-[GTQE ST HION BT AT 1080° g1 Elje;"{-[ﬁ?ﬁ
YT} B HE=T J1d B |
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1. 12

2. 10
3.6

4.8

Correct Answer :-

61) Looking at a photograph a person said "I have no brother or sister but
that man’s father is my father’s son”. At whose photograph was the person

looking at?/ T a¥dR &1 3T §U UH SAfad A BT "B B UTS T 98 181 & g 39
Hfed & e A et w17 8" safed fraat iR S@ weT Ut 2

1. His nephew/39T HdST
2. His sons/3¥&H1 YA
3. His father/39® fuar

4. His own/33d &1

Correct Answer :-
« His sons/3Y9Hh1 gA

62) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ﬁﬁ‘\’r: Frafafag fawea &
W 98 I ga o faT 71T Weg & 31&RT BT T B A8l a1 o HPhal 6-

GENERALIZATION
1. GOAT

2. NOTE

3. LIZARD

4. RATION

Correct Answer :-

« LIZARD

63) DIRECTIONS: Study the following information and answer the questions

given: /=8 8 R # wFgd® ue ik i feT Tyl & IR S

A, B, C, D, E, F and G are sitting around a circle facing the centre, not
necessarily in this order. D is not second to the left of F but D is second to
the right of A. C is third to the right of A and C is second to the left of G. B is
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not the immediate neighbour of G. Then, who is sitting to the immediate

right of C?/ A, B, C, D, E, F 3R G U& Md & TRI 3R &5 B! 3R Yg HIP 96 &, I

Rfr R Fa A3 ID, FFal AT WRID, AFSIRAGIRIZIC, AF ST

a%rm%%aﬁ?c, G & I8 A g2 B, G BT Fwean uskit T8l 81 a1, ¢ & FApeaq ad &9
2?

1.E
2.D
3.B

4.G

Correct Answer :-

64) DIRECTIONS: Arrange the following in a logical order:/ fAdar: ﬁmﬁw
3rfyut v o afRE F9 |

(i) Weekly/ STqaies
(ii) Daily/ ufafes

(iii) Monthly/ ATRI®
(iv) Fortnightly/ uTféi®
(v) Bimonthly/ fgafi®
1. (v), (i), (i), (iii), (iv)

2. (i) (iv), (iii), (i), (v)

3. (i), (i), (iv), (iii), (v)

4. (iv), (i), (ii), (iii), (v)
Correct Answer :-

« (i), (), (iv), (iii), (v)

65) The average marks obtained by 40 students of a class is 86. If the 5 highest
marks are removed, the average reduces by one mark. The average marks of

the top 5 students is: /40 faenfdal & wen & sitd 3 86 &1 Tfe 5 TaleaH 3P geT e
SITE o 3id 1 3ip ®H 81 ST &, Y 54 5 faenRiaY &1 siird sie wira Fifvrg|

1. 96
2.97
3.93

4.92
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Correct Answer :-

66) The average age of P, Q and R is 25 years. If the total age of P and Q
together is 39 years, then R’s age is:/ P, Q 94TR &1 3ud Mg 25 g6 g1 A P 3R Q
P pd 3Ag 39 94 ¢, 9 R B MY 719 B

1. 19 years/19 ay
2.22 years/226|15f
3.28 year/ZSEﬂSf

4. 36 years/36 ¥

Correct Answer :-

e 36 years/36 ¥

67) A boy runs 20 km in 2.5 hours. How long will he take to run 32 km at
double the previous speed?/wm'%r 258 H 20 %ﬁaﬁgﬂaﬂwmﬁl gfe a8
ST T BT AT B <, A 39 32 [Hft &1 g3t a9 B A fova=n awg @

1 1
1. 22 hours / 22 ©ie
1 1

2. 4E hours/ 4E e
3. 5 hours/5 Te
4. 2 hours/2 e

Correct Answer :-

e 2 hours/2 He

68) The best conductor of heat among liquids is?/ WWWWW@
ﬁﬁgﬁﬁaﬁw%‘:

1. Alcohol/ Tcblgd

2. Ether/ 3%

3. Mercury/ URT

4, Water/ 9Id

Correct Answer :-

e Mercury/ URIT
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69) The mammal that lays eggs is?/ P T € S 378 ST &

1. Opossum/ 3aH

2. Otter/ 3flcx
3. Kangaroo/ $7_=

4. Duck-billed-platypus/ €& fate wfeuq

Correct Answer :-

« Duck-billed-platypus/ €& fots wfeuq

GET IT ON
Google Play

70) For the rear view, motorists use?/ %ﬁ@ﬁ%ﬁ%mmﬁﬂﬁm

BT IUART Bl &

1. Convex mirror/ 3qd GUUl

2. Cylindrical mirror/ SAIHR yur
3. Plane mirror/ gAdd guur

4, Concave mirror/ &WE{CTUT

Correct Answer :-

« Convex mirror/ G’FIFTE{CTUT

71) Which of the following plant hormones controls fruit ripening?/ fada

P11 UG BTHIA el &1 U PT =01 & 8:

1. Ethylene/ QYo

2. Zeatin/ fo@feq
3. Auxins/ Gﬁﬁéﬂ
4. Gibberellic acid/ iR 3

Correct Answer :-

« Ethylene/ TUTSfe

72) Simplify:/dd B3

4

f f
[3 J 5{?J {3 N &JﬁJ

1. 52

2.58

4
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3. 512

4, 5%

Correct Answer :-

73) Food is cooked faster in a pressure cooker because?/lﬁmﬂwwﬁw
T UF STa1 8 F?

1. Steam is hotter than the boiling water/HTd S ¥ 3ifere 7 gt §

2. In the cooker water starts boiling at a lower temperature/WﬁWWﬂqu?Baﬂer
UG

3. Heat cannot escape from the cooker/3ItH $&HR I STER 6! ol Hebdl!

4. Due to high pressure the boiling point of water is raised/3< &l R FYIH EFC.TGHFIT%

Correct Answer :-
« Due to high pressure the boiling point of water is raised/3= ¢ld R F&@YTH EFC.FGHFIT%

74) What is the source of electric energy in an artificial satellite?/ Tﬁ'ﬂ?ﬂ'ﬂﬁ

 fagaa St &1 1 T g &
LA dynamo/WETsﬁﬁ[

2. A thermopile/ T& YHBTSA
3. Solar cells/ IR HIRABT

4. A mini nuclear reactor/ T Sl AMND T G4

Correct Answer :-

. Solar cells/ IR BHIRABT

75) In a certain code '"HENRY' is written as “Jgpta”, how will COUNTRY be
coded?/ f&ft fAif¥d $e A "THENRY' & “Igpta” for@r &1 8, @ COUNTRY 5 R

pied fovar sream?
1. Eqwpvta

2. None of these/ gﬂﬁﬁﬁé:@

3. Eqwputa

4. Eqwvpte

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

« Eqwpvta

76) “IC chips’ for computers are usually made of?/%Wex § SUANT g1 ATt Mg
g frad o+ g1t &

1. Gold/ &duf

2. Silicon/ fferepT

3. Lead/ s

4. Chromium/ HIFH

Correct Answer :-

« Silicon/ Rt

77) An amount of money is to be distributed among P, Q and R in the ratio of
2:7:9. The total of P’'s and Q’s share is equal to R’s share. What is the
difference between the shares of P and Q?/U& YRIIIHIP, Q SRR A2:7:9F
qura ¥ Ui P mam aR PR Q ST Fa R R F AT RIRE, AP IR QP
fea) &1 SfaR 1 B

1. Rs.5000

2. Rs.9000

3. Rs.7500

4, Data inadequate/ G{Clﬁfl?f&ﬁ&%

Correct Answer :-

« Data inadequate/ chlﬁfl?r&ﬁao%

78) The cost price of 24 apples is the same as the selling price of 12 apples. The
percentage of gain is:/ 24 Jdl $T 5T Ted 12 A1 & fIpT You & aR1aR B, o a1 ufa=a
I B |

1. 100%;

152%H
2. 37

1215'f
3, 27

4. 20 %

Correct Answer :-

. 100%
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79) A person has a chemical of Rs.25 per litre. In what ratio should water be
mixed with chemical so that after selling the mixture at Rs.20 per litres he
may get a profit of 25%./@&13111%@ Rs.25 Ufd fie” aren T9a= B m&mﬁﬁ
Ut &1 A &A1Y A e aifds fso1 B Rs.20 Ui diex 991 W 25% BT ATH G2

1.9:16
2.9:14
3.14: 11

4.16:7

Correct Answer :-

e 9:16

80) A man sold an article at a loss of 20%. If he had sold that article for Rs.12

more he would have gained 10%. Find the cost price of that article./wm'%
TP G B 20% BT U 91 3 | TS I8 T B Rs. 12 3P Yo U= S€T, 1 S/ 10% BT ATH
g1 9%g BT g Yed J1d Be |

1. Rs.22
2. Rs.40
3. Rs.60

4. Rs.30

Correct Answer :-
e Rs.40

81) The poisonous substance that is the main constituent of tobacco is?/

darg d ST uerd Yerd: T S 8
1. Aspirin/ THUIRA

2. Nicotine/ feifed

3. Morphine/ ARG

4. Reserpine/i?qﬁll\’_*r

Correct Answer :-

« Nicotine/ Faifeq
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Which one of the following scientists is known as the father of genetics?/

g o A 99 3 &1 SRS &1 96 HeT AT 8
1. Gregor Mendal/ IR Hed
2. Charles Darwin/ e SIfa

3. Hargobind Khorana/ g3ifde TR
4. T. H. Morgan/ﬁ@ﬂﬁ?

Correct Answer :-

« Gregor Mendal/ TR Hsd

83) One-fifth of hglf of a number is 20. Then 20% of that number is: /&
T & AT BT UTadl 3T 20 §,a) IH BT T 20% 3:

1. 60
2.40
3.20
4. 80

Correct Answer :-

84) Daily in the morning the shadow of Taj Mahal falls on Red Fort and in the
evening the shadow of Red Fort falls on Taj Mahal exactly. So in which

direction is Taj Mahal to Red Fort?/ 35 gag H 19 Hed &1 ST a1d frar iR usdt 8
3R T # a1a fre @) ST St 9T Hed UR US«dl @ a1 dreied, e fear o fed ferm # 82

1. Southern side/ cf&oft fe=m &
2. Western side/ GfgHt fa=m &

3. Northern side/ Sl f&=m &
4, Eastern side/U:qcﬁTZﬂﬁ

Correct Answer :-

. Eastern side/ Jd fq=m &

85) A and B can complete a piece of work in 15 days and 10 days respectively.
They contracted to complete the work for Rs.30,000. The share of A in the
contracted money will be:/A 3R B it & &) pH: 15feiaur o e A @@ o=
THd &1 31 Rs.30,000 T TP ST B B T ST o, at Fa AR A J A &1 fz=an foan
ghm?
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1. Rs.16,500

2. Rs.18,000
3. Rs.12,000

4. Rs.12,500

Correct Answer :-
e Rs.12,000

86) A and B undertook to do a piece of work for Rs.4500. A alone could do itin 8
days and B alone in 12 days. With the assistance of C they finished the work
in 4 days. Then C’s share of the money is:/ A 94T B T% HTH P Rs.4500 H HI BT
IHTAAE | A 3T HTH BI 8 AT & auT B /bt S0 1 12 a1 o S IPpar g1 ¢ &1 geraar
T A T 4 3 & 10 T #3d €, 9 $a AR H ¢ T 7w g 7Y

1. Rs.2250
2. Rs.750
3. Rs.1500

4. Rs.375

Correct Answer :-
e Rs.750

87) A alone can complete a piece of work in 12 days. A and B together can
complete it in 8 days. How long will B alone take to complete the work?/A

3pd frfl B 12 A A BTAT31 A 3R B e M P B s AT A PR IAPAE, ' B
3Pl 3H BT &I fbaH fe=f & dam?

1. 18 days/18%:f
2. 24 days/24 fe=
3. 16 days/16 faa
4,20 days/20 fa=

Correct Answer :-

« 24 days/24 faq

88) How many dots are there on the dice face opposite the face with one

dot?/ ¥ & T fovg ard wae & faudia faeraa fargait arar wae grm?
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Y &P &

1.4
2.2
3.3
4.6

Correct Answer :-

« 6

89) How many triangles are there in the following figure?/ % anefa & fAywi
o1 He forat 82

AN
N

1. 32

2.28
3.24

4,20

Correct Answer :-

90) A wire when bent in the form of a square encloses an area of 484 sq. cm.
What will be the enclosed area when the same wire is bent into the form of a

3y

circle? (Take " 7)./ IR B o9 T o F = & HIST ST 2, @) 36 gRT RRT A
484 931 At 8| TR GRT RRT g T B, A SR AR B U 9 & U H AIST SE?

1. 230 square cm/ 230 ¥ IHT
2. 125 square cm/ 125 & I+t
3. 616 square cm/ 616 a1 JHI

4. 550 square cm/ 550 a1 I

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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. 616 square cm/ 616 a7 I

91) The movement of eggs from the ovaries to the uterus proceeds through

the?/ WTFId 33 T T ST | T Pt 3R fFad gRT g &
1. Fallopian tube/ Balfug= =Tail

2. Placenta/ TTH-Td

3. Cervix/ Htar

4. Vagina/ o

Correct Answer :-

« Fallopian tube/ Balfug= =cil

92) Ozone is important to mankind because it?/ 3fi%i9 A1Ha ¢ & forg aga
ATID § T 2

1. Creates a protective coverage against ultraviolet rays/ W@WW@[W%W
Had ST §

2. Releases hydrogen in the atmosphere/ gard Slsg S I Bl §
3. Releases oxygen in the air/ BT H ST I Bl &

4. Maintains the temperature of the earth/ Gd &I d9HM a0 Bl &

Correct Answer :-

. Creates a protective coverage against ultraviolet rays/ TRISTHI UG I §=Td & forg
B S &

93) The International Rice Research Institute is based in?/ &W@HW
ST TR ! A 8?2

1. Nigeria/ HETrﬁﬁ?JT

2. Mexico/ BT

3. Australia/ &@ﬁﬂiﬂ
4. Philippines/ fthaiidig

Correct Answer :-

« Philippines/ fraitdig

94) The artificial kidney operates on the principle of?/ Wmmﬁmaw
P Hl 8
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1. Osmosis/ TR

2. Active transport/ gfohg ulkaga
3. Dialysis/ 3T

4. Diffusion/ fa¥Ror

Correct Answer :-

« Dialysis/ g

95) Mahima starts at point T, walks straight to point U in north direction
which is 4 ft away. She turns left at 90° and walks to W which is 4 ft away
then turns 90° right and goes 3 ft to P. Again turns 90° right and walks 1 ft
to Q, turns left at 90° and goes to V, which is 1 ft away and once again turns
90° right and goes to R, 3 ft away. What is the distance between T and R?/

afgw, fog T 9 IO &Y ez & 9691 wivy Feedt g iR e fag U ar ardt 3 Wit 4 Wle R B
8900 WAL YSH MR W aF Wi e ol 4 Bie g 8 | fhR 900 W gl 8 3R P &
ST § St 3 Wie ¥ 8, Y ¥ 900 W a1t gl § 3R Q 9% 1 Wie Tl ¢ e 900 R aTY
gaeit 8 3R V 9% ol 8, It i 1 Wle g 8 iR fhR ¥ 90° W SN YS&he R ah STt 3 Y 3
Wiege 81 T 3R R & Aeh g3t fopait g2

1.5 ft/ 5 Bic
2. 4 ft/ 4 BIC
3.7 ft/ 7 Bic
4.8 ft/ 8 BIC

Correct Answer :-

. 8ft/ 8 WIC

96) Boric acid is a/an?/ WW@W%W
1. Germicide/ 3{HTRID &dl

2. Antibiotic/ Ufauifa®

3. Strong antiseptic/ WWW

4. Mild antiseptic/ WWW

Correct Answer :-

« Mild antiseptic/ Wil‘ll@!il%

97) The heaviest among the inner planets in the?/ 3id® U8 # Ja& U Ug S
HT%
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1. Mars/ HTd
2. Mercury/ g4

3. Venus/ P
4. Earth/ geat

Correct Answer :-

« Earth/ gt

98) The gas that causes atmospheric pollution is?/ ®IFRIl TRT IRHSHT UG HT
PR 8?2

1. Sulphur dioxide/ B EEI G| )
2. Steam/ HIY

3. Oxygen/ NICNIEE]

4. Nitrogen/ 1gcIoH

Correct Answer :-
« Sulphur dioxide/ GePRSZHNISS

99) Two numbers are in the ratio of 3:5. If 9 is subtracted from each then they
are in the ratio of 12: 23. Find smaller number./ﬁ\q'@TGﬁWGW3 : 5%| uﬁiﬁ:ﬁ'
T UAS T 9 YT AT, ot SHT U 12 : 23 B, Tl DI W1 J1d B |

1.33
2.55
3.49

4.27

Correct Answer :-

100) The chemical used for artificial ripening of green fruit is?/ g # Q F=h
TR § T IUET W U I 3R Wl ot ub™ & fore far siran &

1. Carbon dioxide/ &Ta BT HTRISS

2. Ethylene/ TUEfeH
3. Ethane/ Q’?ﬁ

4. Carbide/ ®aisS


https://applink.adda247.com/d/XhqWf9lSap
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Correct Answer :-

. Carbide/ ®aisS
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